Stopping Distances
Complete the following questions on stopping distances.
Show all your working and calculations clearly.

1. A car is travelling at 30m/s (around 60mph) along a dual carriageway.  The driver spots queued traffic ahead and takes 0.5 seconds to react before pressing the brake pedal.

a. How far does the driver travel during this period?

b. What is the technical term used to refer to the distance travelled during this reaction time?

After pressing the brake pedal the driver takes 8 seconds to stop.

c. Calculate the deceleration of the car during braking

d. What was average speed of the car during braking?

(remember, it has slowed from 30m/s to 0m/s)

e. Calculate the distance travelled during braking?

f. Combine your answers to (a) and (e) to find the total stopping distance of the car.

g. State whether the driver stops in time, given that the queue of traffic is 250m ahead when he sees it.

2. Another car is travelling along the same dual carriageway.  It is breaking the speed limit and travelling at a speed of 40m/s (this is around 80mph).  The driver’s reaction time is the same (0.5 seconds).

a. Find the distance travelled while the driver is reacting.

This car takes 12  seconds to stop due to its increased speed.
b. Calculate the deceleration of the car during braking.

c. Calculate the average speed of the car during braking

d. Calculate the braking distance.

e. Find the total stopping distance of the car

f. Does this driver stop in time?
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